20185 ERRMBSEALETHMEERSNTRAE

[{RA DH] B[
w|m| = FHE | xuy | 2m@ I
SRIA 00,000 900,000 0
RBIA 800,000 00,000 0
[& A 900,000 800,000 0]@15,000 x 804+ 1% (2873087244
MR 1,000 12 A 988
IR A 1,000 12 A 988
[ A 1,000 12 A o8s[RrEFI B
[BALBA 1,197,688) 1,197,688 0
BRASIRA 1,197,688) 1,197,688 0
[@ARIRA | 1197688] 197,688 o[ M4 e sdiR e
RAER 2,098, 688| 2, 097, 700 A 988
[3ZHDHE] B @
(&[] B | FHM | xwm | =@ W =
FEHR 280,000 166,875 113,125
BFEERR 130,000 113,118 16,882
i3 30,000 0 30,000 A & AR (R RRS
LBR 100,000 113,118| A 13118[{EAR - L% RIFHAHS
BHR 150,000 53,757 96,243
HERR 80,000 36,847 43,153 {1 R A SRS —
MBI R 70,000 16,910 53,090 RATEE(THES
BRI 1,575,000 770,750 804,250
R 525,000 402,978 122,022
sk 20,000 24,110 A 4110|[FHED(RET—H—hSREATHESR)
150,000 224,356) A 74358|FHEQ(HBOELELSEHESR)
200,000 145,512 54,488 |FHEQ (£ RT—h—DRIOMICE SF =B OHYH)
120,000 0|  120,000{HSE@(EREHEH R SFHESR)
35,000 9,000 26,000|2 (AR
LREDR 300,000 367,772 A 67,772
[memmr | sooc0o] 367772 A ermrlEucEm mmoRm. 2Esm)
DR 0 0 0
EXEE 0 0 o| AR ARFRRE
WRBRR 750,000 o| 750000
WRBhAR 3% 400,000 0 400,000 £ EL IR DD L \HBY
150,000 0 150,000 | WS AR I 5
200,000 0|  200,000|FHERBE /IR %1t
PR 243,688 0 243,688
XS 2,008,688 937,625 1,161,083

(RASHR) 2,007, 700F~ (H&Et) 937, 625M=1, 160, 075M
RERBBRS1, 160, 075/

BEREEEE
HERGEEHEILE R RER201SFERRICHAIBRZTWICOVT, @R, HOW, ARESERR
LELAEBR BECSHAEShTNSCLERELET,

b

NI B ¢ £ % A @j
HNETH S MBS \%7 %?\ % ?/\

FH/ % «h Jn




